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For next time…
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• List steps to complete A43
• Bring A36 VISSIM network with A28 

volumes to Class 20
• A36 performance data 

based on A28 volumes
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Approach Base (A28) A36

NB 35 25

SB 21 12

EB 5 7

WB 8 10

Intx 22.1 15.2

Average delay (sec/veh)

Approach Base (A28) A36 Change %Change

NB 35.0 25.0 10.0 29%

SB 21.0 12.0 9.0 43%

EB 5.0 7.0 -2.0 -40%

WB 8.0 10.0 -2.0 -25%

Intx 22.1 15.2 7.0 32%

Average delay (sec/veh)
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Case 2
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For next time…
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• List steps to complete A43
• Bring A36 VISSIM network with A28 

volumes to Class 20
• A36 performance data 

based on A28 volumes



Mean Values for Case 1 and 
Case 2
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